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1. (10%)
FE2|E7T 7|vm- B B £ R ehjkl X (Basis) ?
(1){[3,1,2] [6.2.-3] }
(2) {[LL-1]",[2,3.4]7.[0.L—1]", [4.L—1]" |
(3){[1.3,-2]".[2.1.4]", [0,1,-1]" |
(@) {[1.2.21" . [-1.2.177, [08.6]" |

2. (20%)
1+ 1 1 0
*Fed ov=| 1 |v,=[1+2]V 1 ov= 4] #F
1 1 1+ 2

(AP~ EpF > V¥ d V,V,,Vv, 5% 2 & (Linear Combination) % & » ® % 7t %ri— ?
QAP ER > VT d v,V s LT 0 ¥ AT A~ ?
B)ABPER > VA Fd v,V Mte s L5 ?

3. (20%)
1] [-1 1
HALIBRHFEL > rank(A)=2>F A0 0= 0 0] FRASDH ik
11| |1 1

(Eigenvalue) ¥ 3 jicw & (Eigenvector) °

4. (10%)
EEGIP TR &2 £ R g3 % B (Subspace) ©
W, = {Ae R |det(A) = 0}
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5.(20%)

® A S 31 GECHAE (Symmetric) 2 o PR R A= B9 T4 31 H e

(Identity Matrix) » F&EM A =T

6.(20%)
TRTAOCHEYTI T2 T3 2 T4 Y A8 T 2L 4pe BEDTIH BN TL T2

T32 T42 @@ Ft H H 4% - (M1 a,b,c,d e fg h%7)
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